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Al & ol &

A

M
B
]
o

Z-o-g Ol & o SIELINE DS

==
s A 11,539,909 9,076,324 2,463,585 27 . 14%
200 Mel+=g 22,170 22,000 170 0.77%
210 RN 22,170 22,000 170 0.77%
211 et 2,170 2,000 170 8.50%
216 OlXt==& 20,000 20,000 0 0.00%
500 2x= 4,662,997 2,000,000 2,662,997 133.15%
510 =EX=S 4,414,997 2,000,000 2,414,997 120.75%
511 =11EXA3S 4,414,997 2,000,000 2,414,997 120.75%
520 Al - THIEEXSS 248,000 0 248,000 =3
521 Al - SHIEEZSS 248,000 0 248,000 =5
700 2EM+=ASHUFAcH 6,854,742 7,054,324 199,582 A2.83%
720 L= A cH 6,804,742 6,451,122 403,620 6.26%
721 Y3 6,804,742 6,451,122 403,620 6.26%




A & 0ol & AF S H Al A

20233 = =0l AFHEX]

Jm

ol

[=Z]
=2

Al

B 200 M2l
2 210 FATMLSY
8 211 THAareiCH49) (SHol: &R
T.p-g-2 O 4 o HiE ol aro HimE=E]
=l 11,539,909 9,076,324 2,463,585
200 Al 2148l 22,170 22,000 170
210 ZAE A 2l 4e 22,170 22,000 170
211 AT+ 2,170 2,000 170
21102 BRIAAHZ 2,170 2,000 170
< SRR > 2,170 0 2,170
OZRML ABE 2,170
216 0l Rt4=2l 20,000 20,000 0
216-01 BZ0IS0 X4 20,000 20,000 0
< EXRXD > 20,000 0 20,000
OZZ0I2 0IXt 20,000
50 22 4,662,997 2,000,000 2,662,997
510 2DEX3S 4,414,997 2,000,000 2,414,997
511 2NSE3S 4,414,997 2,000,000 2,414,997
511-01 2D EZ 4,414,997 2,000,000 2,414,997
< EXRID > 4,414,997 0 4,414,997
OFEH(SH) LB THYAIS 872,000
OLEE ABMYEBX ZBHAMIAIL &XI(12H) 607,000
OSEF UPNACK ZTIHAHLIAL SH(2EH) 1,235,997
OSZEX WIIX X 1,700,000
520 Al - CHIZZEZS 248,000 0 248,000
521 Al - CHIEZE2S 248,000 0 248,000
521-01 Al - CHIBX2S 248,000 0 248,000
< SNSRI > 248,000 0 248,000
OSZEX WIIX X 248,000
700 2XAASULHTI1 Y 6,854,742 7,054,324 199,562
720 LI 42 6,854,742 6,451,122 403,620
721 HYU2 6,854,742 6,451,122 408,620
721-03 JIEFEI H RS 6,854,742 6,451,122 403,620
< EXRXD > 6,854,742 0 6,854,742
OLPrEN Y3 6,854,742




A £ 0l & A
202833 =0l AHHEHXISESIH &H Eel ® )
20 22 - FHAL - SAAA(Z]H]) Ol &F o4 HET 0 & Hnsz pp—
==k
=S Al 11,539,909 9,076,324 2,463,585 27 14%
= 4,414,997
= 248,000
Al 6,876,912
ZEALY 11,496,790 9,034,200 2,462,590 27 .26%
= 4,414,997
= 248,000
Al 6,833,793
MREs 0 0 0 0.00%
HY2HZHI 43,119 42,124 995 2.36%
SEYXSNL 11,496,790 9,034,200 2,462,590 27 .26%
= 4,414,997
= 248,000
Al 6,833,793
A EX 11,496,790 9,034,200 2,462,590 27 .26%
= 4,414,997
< 248,000
Al 6,833,793
AHEI =24 2 2H 11,496,790 9,034,200 2,462,590 27.26%
= 4,414,997
< 248,000
Al 6,833,793
AFACX] A o 2ol (MEHXSESIA) 11,496,790 9,034,200 2,462,590 27 .26%
= 4,414,997
< 248,000
Al 6,833,793
JIE 43,119 42,124 995 2.36%
JIEt 43,119 42,124 995 2.36%
HY2HAH| (LS SHXSLESIA) 43,119 42,124 995 2.36%
QIARHHI(MAHXISESIA) 43,119 42,124 995 2.36%




H £ 0l & AF & S

Al A

0238 20lat AHEXSERH JF
A FEXEXI
M AT IM Y 29
CI9l: MRICH] E& 2 22|(MHSRSEEH) (Crel: a2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EXt= R 11,539,909 9,076,324 2,463,585
= 4,414,997
== 248,000
Al 6,876,912
MHEX xd & 28 11,496,790 9,034,200 2,462,590
= 4,414,997
< 248,000
Al 6,833,793
AHHEHR 2 L 2| (MASHXEESINH) 11,496,790 9,034,200 2,462,590
= 4,414,997
== 248,000
Al 6,833,793
st eXizel & JIBAIE Eh 473,000 429,000 44,000
201 2= 30,000 27,000 3,000
01 AtR2t2lt] 4,000 4,000 0
OMEXY HH| St 4,000
2 35234l 26,000 23,000 3,000
OMIIQBOILE ) 15,000
OLHUHI (2RI R ) 1,000
O==XI&E A& 5,000
OZIMRA S RAES 5,000
202 04l 2,000 2,000
01 2LHoIH 2,000 2,000
OLHA Al e & 2ie| 2,000
401 AIEHIX R0 441,000 400,000 41,000
01 A28l 438,000 397,000 41,000
OdA (s3SI JIEAIE FHI 438,000
03 AIESTHYI 3,000 3,000 0
O4td (=3) Xl JIBAIE A 3,000
SEH LA SSHEXMEAIE 2 593,800 475,200 118,600
201 el 71,100 0 71,100
01 At22t2lt] 71,100 0 71,100
OSSH=XMIIAIE &5 & D=l 71,100
307 el2tol & 522,700 475,200 47,500
05 212t =S 522,700 475,200 47,500
O33H=xlAE | 29 522,700
HEX dEHAEI SSH=XM2IAE ZEXI(1EAH) 607,000 0 607,000
= 607,000
401 AlZHIZL SO 607,000 0 607,000
= 607,000
01 Al&HI 400,000 0 400,000
OSSH=XMIAIE &X 400,000




A FEXEXI
M AT IM Y 29
Rl AIQICHT| T4 U 22|(ARIEHKISE S| H) (o) &)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
= 400,000
02 Zeltl 207,000 0 207,000
OSSH=XMIAIE £X 207,000
= 207,000
EX(ZY)LBHAACHR] THA 5,072,000 3,000,000 2,072,000
= 872,000
Al 4,200,000
401 Al HIZ R 0HbI 5,072,000 3,000,000 2,072,000
= 872,000
Al 4,200,000
01 Al&HI 4,771,000 2,698,000 2,073,000
OTHEAL JIBEAIE EHI 4,771,000
= 872,000
Al 3,899,000
02 Zeltl 300,000 300,000 0
OTHA ALY JIBEAIE FH 300,000
03 AlESTHYI 1,000 2,000 A1,000
OTHAAN J18FAIE FHI 1,000
oligil 22,170 0 22,170
801 GdiHI8l 22,170 22,170
01 8HolbIgl 22,170 22,170
Og ol 22,170
SEH LoMAET SSHSMlAE S (2eHH) 1,765,710 1,430,000 335,710
= 1,235,997
Al 529,713
401 AIEHIX R0 1,765,710 1,430,000 336,710
= 1,235,997
Al 529,713
01 A28l 862,710 977,000 A114,290
OsSEE SZ2H==HMelAld ZX(22A) 862,710
= 603,897
Al 258,813
02 Zeld| 900,000 450,000 450,000
O=&d SZH=HMelAld ZXI(28HH) 900,000
= 630,000
Al 270,000
03 AIZ S THYI 3,000 3,000 0
Os&EE ZZ3H==HMelAld ZX1(22A) 3,000
= 2,100
Al 900
s3CX WX X2 2,214,000 0 2,214,000
= 1,700,000




A FEXEXI
M AT IM Y 29
CI9l: MRICH] E& 2 22|(MHSRSEEH) (Crel: a2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 248,000
Al 266,000
401 AlEHIZL S0 2,214,000 0 2,214,000
= 1,700,000
== 248,000
Al 266,000
01 Al&H| 1,978,618 0 1,978,618
O=e 5 uldE A=S Al 3,861,000,0002
* 5.86% 245,000
= 242,782
== 2,218
OS2 AME 2HS22aHI(ZH ]«
10% 24,500
O=g2ztlE &8 & &=, J2 SAH 1,077,218
= 1,077,218
Oorstz Helxd JI=HE & £ 42,700
s 35,900
Al 6,800
OOtEL2 Helxd FHSUEE S 589,200
= 380,000
Al 209,200
02 Zeltl 47,000 0 47,000
O=g2a5AlulE A=S Al 3,861,000,000
* 1.1%% 47,000
=S 47,000
03 A2 2 0HYI 188,382 0 188,382
O=e25AaldE AI220H], 2H2EF
Sl S 170,282
=S 144,782
Al 25,500
OO0ISU2 JHelx=d AIZR0 18,100
< 18,100
gEILMAHT] DIZLEX HS 749,110 749,110
401 Al HIZ R 0HHI 749,110 749,110
01 AlZ8| 749,110 749,110
OgEdgetidHil 022X FS 749,110
HY2IZHI(LMSHHXISLESIA) 43,119 42,124 9%
olAHH(AHSHXISESIH) 43,119 42,124 9%
el =gl 43,119 42,124 9%
101 @12A4H| 43,119 42,124 9%
03 SRA(RIH )22 U2+ 43,119 42,124 9%
oJlzs 24,841
OoJa=g 8,841
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A

.28 Ol & o SIELINE DS
==

s A 30,719,612 34,197,013 A3,477,401 A10.17%
200 Mel+=g 100,000 70,000 30,000 42.86%
210 RN 100,000 70,000 30,000 42.86%
216 OIXt==& 100,000 70,000 30,000 42.86%
500 2x= 27,169,612 31,071,296 A3,901,684 A12.56%
510 =1EX=S 23,304,612 27,311,79%6 A\4,007,184 A14.67%
511 =1BXSS 23,304,612 27,311,79%6 4,007,184 A14.67%
520 Al - EHI2XE=S 3,865,000 3,759,500 105,500 2.81%
521 Al - ZHIEXSS 3,865,000 3,759,500 105,500 2.81%
700 EM=ASHUR I cH 3,450,000 3,065,717 3%4,283 12.90%
710 BH4+YUS 905,000 1,000,000 A%,000(  A9.50%
711 dois 905,000 1,000,000 /95,000 A9.50%
720 LS {ch 2,545,000 2,085,717 489,283 23.80%
721 HYB 2,420,000 1,333,000 1,067,00(  81.55%
722 HESK0*== 125,000 722,717 ANBI7, 717 A82.70%
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& 500 EX2
2 510 2NBXE3S
g 511 FNEXSS (e &J)
Zoodios Ol A o T E 0| AbH Hnsz
oM™ 564,339
odls 637,825
oEk 574,644
AT deake] Saten 292,387
520 Al - SHIEX 2SS 3,865,000 3,759,500 105,500
521 Al - EHIBXZ2E 3,865,000 3,759,500 105,500
521-01 Al - SHIBXZS 3,865,000 3,759,500 105,500
< SBEHL > 3,865,000 3,759,500 105,500
ODHEE MEfGHE =R 3,700,000
O(@)BHOIXYH Delglgel=Zet &4 45,000
O8NS 4o HEE N 120,000
SHSUSHHEHN 3,450,000 3,005,717 394,283
0 B82S 905,000 1,000,000 295,000
11 203 905,000 1,000,000 205,000
71101 =MAHLHZ 905,000 1,000,000 205,000
< SBFI > 905,000 1,000,000 205,000
O=NALNHS 905,000
720 LHEDO1cH 2,545,000 2,085,717 489,283
721 83 2,420,000 1,333,000 1,087,000
721-03 JIEISI AN LS 2,420,000 1,333,000 1,087,000
< SBFI > 2,420,000 1,333,000 1,087,000
OHI0IQ 828 Ats XIJMEH 25 2,333,000
O=shdRd AZORIHI0I12 IS EHE 715 87,000
72 HE=SL0=3 125,000 722,717 ABI7, 717
72203 e =& 3sl+= 100,000 705,000 605,000
< SBEHL > 100,000 705,000 A605,000
OueZ2aZ3l=+(SEII2) 100,000
722-04 I =01 ==L 25,000 17,717 7,283
< SBEHY > 25,000 17,717 7,283
OSEMEEEIIZ HES Ol k=2 25,000




A £ 0l & A
20283 =0l =ZINHSES/H &H Eel ® )
20 22 - FHAL - SAAA(Z]H]) Ol &F o4 HET 0 & Hnsz pp—
==k
=S Al 30,719,612 34,197,013 A3,477,401 AN10.17%
= 1,100,000
J| 22,204,612
= 3,865,000
Al 3,550,000
ZAAMY 14,721,380 17,406,413 A2,685,033 N15.43%
= 1,100,000
p) 6,206,380
== 3,865,000
Al 3,550,000
ME2S 15,998,232 16,790,600 NT92,368 N4 T2%
J| 15,998,232
HY2HZHI 0 0 0 0.00%
8 30,719,612 34,197,013 A3,477,401 A10.17%
= 1,100,000
o) 22,204,612
< 3,865,000
Al 3,550,000
&t - =2 30,719,612 34,197,013 A3,477,401 AN10.17%
2 1,100,000
J| 22,204,612
== 3,865,000
Al 3,550,000
=& 2| 14,721,380 17,406,413 A2,685,033 N15.43%
2 1,100,000
J| 6,206,380
S 3,865,000
Al 3,550,000
FOUTZ A (=EINEELSIH) 1,960,243 3,324,219 A1,363,976 A41.03%
p) 1,681,243
Al 279,000
st SEME(sEMESLESIA) 6,711,137 12,249,194 5,538,057 A45.21%
=2 1,100,000
| 895,137
< 3,865,000
Al 851,000
ed HIHAY(SFEMLSEE) 6,050,000 1,833,000 4,217,000 230.06%
J| 3,630,000
Al 2,420,000
WREs (2R 15,998,232 16,790,600 ATR,368|  A4.T2%
J| 15,998,232
HEHARIB (SR HASSEH) 15,998,232 16,790,600 ATR3B|  A4Th
J| 15,998,232
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2023 20il&t =EIHLSESA HF
FA S
B a2
SH9l: FRIKIBAIY (SRINLSE3IH) (choy: @2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
sSFEH 30,719,612 34,197,013 A3,477,401
= 1,100,000
Jl 22,204,612
= 3,865,000
Al 3,550,000
=& 2 14,721,380 17,406,413 A\2,685,033
= 1,100,000
) 6,206,380
= 3,865,000
Al 3,550,000
FUN A (FEHASL3IA) 1,960,243 3,324,219 A1,363,976
Jl 1,681,243
Al 279,000
SERA SR (LEXI]) 455,237 339,809 115,428
) 455,237
201 er2 3| 25,000 27,577 N2,577
Il 25,000
02 S3=gHl 25,000 27,577 N2,577
O0t=dsAlE RA2 5,000
Jl 5,000
O0l=ESAIE 2X2lAld =Xl2 20,000
Il 20,000
301 EtE N = 160,000 185,575 4,425
) 160,000
14 JIEt2 8= 160,000 185,575 4,425
O=2XHAS HEHE XH 160,000
Jl 160,000
307 212+01& 65,237 50,240 14,997
7l 65,237
02 2B YA R E £ 65,237 50,240 14,997
OltSSSAIE 2, 0i23s sIIH =
cltl 65,237
Il 65,237
401 AlZHIZ 2018 135,000 79,487 55,513
) 135,000
01 Al&HI 135,000 79,487 55,513
OCI=SESAIE SAt 135,000
Il 135,000
405 KHaHE SH 70,000 26,930 43,070
Jl 70,000
01 ML ESFSHI 70,000 26,930 43,070
Onts3s =sJI1H, €8 7 70,000
Jl 70,000




FA S
B a2
gl FUXAAL (BN SE3IH) EERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SHPA FOXA(SLEXEH]) 540,000 540,000 0
Jl 540,000
201 et 3| 1,000 1,000 0
Jl 1,000
02 S3=4gHl 1,000 1,000 0
OlIsgsAlE RA2 1,000
) 1,000
307 elzto| & 16,315 16,315 0
Jl 16,315
02 LB HAHEE 16,315 16,315 0
Ott23s sJ1AH ==l 16,315
7l 16,315
308 AtXIEMSOIE 70,952 71,753 AB01
Jl 70,952
08 WSEJ|A0He 2 & 70,952 71,753 A801
OSJIHEusAH 70,952
) 70,952
401 Al HIZL 201 301,700 300,950 750
Jl 301,700
01 AlZ8| 301,700 300,950 750
OIS SSAIE SAt 301,700
Jl 301,700
405 AtatsE = 150,033 149,982 51
Il 150,033
01 ML ESFSHI 150,033 149,982 51
Obtess s/, 23 7 150,033
Il 150,033
=7 FOXAAMY BE XIS 35,006 34,410 596
Il 35,006
101 21AH| 29,826 29,230 596
Jl 29,826
MU IIRIMZZENSES 29,826 29,230 596
O=F2IXHAIY BE 22 4A 212H| 29,826
) 29,826
201 er23 | 4,680 2,680 2,000
Jl 4,680
01 At22t2l] 4,680 2,680 2,000
OF2XZAY BE L5 S N2 490
2l 490
O=F2XEAY Atg2te| 23| 4,190
Il 4,190
202 04dl 500 2,500 /2,000




FA S
B a2
cel: =OUXAMG (SEIHESESIA) (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Jl 500
01 2L AL 500 2,500 22,000
OFLUXIEAE =& 04 500
Il 500
SFSEFUX AL (01232 2124E 2X) 930,000 0 930,000
) 651,000
Al 279,000
401 Al HIZ S OHbI 930,000 0 930,000
Il 651,000
Al 279,000
01 Al&HI 910,000 0 910,000
Ottsz/2 cl22d 910,000
Jl 637,000
Al 273,000
02 Zeltl 20,000 0 20,000
O0t=S32 e|22E SAH 2l 20,000
Jl 14,000
Al 6,000
Rl 2N (=EIHESESIH) 6,711,137 12,249,194 5,538,057
= 1,100,000
Jl 895,137
[ 3,865,000
Al 851,000
stf=Jl ot M| = 70,109 86,277 16,168
Il 70,109
101 21AH| 70,109 86,277 16,168
Il 70,109
M IIRIMZZENSES 70,109 86,277 16,168
Odtdd fFM | AFY 63,735
Jl 63,735
O=H2Y 4U2S= 6,374
Il 6,374
BE=E SttHc 20,000 20,000 0
Jl 15,000
Al 5,000
401 Al HIZL 01| 20,000 0 20,000
Jl 15,000
Al 5,000
01 Al&H| 20,000 0 20,000
OF = 4| xeltl 20,000
) 15,000
Al 5,000
T4 HIERE MZAIE RA2 404,000 404,000 0




2A:
X XH -
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 182,000
Al 222,000
201 er23| 75,000 75,000 0
Jl 17,500
Al 57,500
01 At2teltl 5,000 5,000 0
OAlg= =Al&el 5,000
) 2,500
Al 2,500
02 s3=gHl 70,000 70,000 0
03523 30,000
7l 15,000
Al 15,000
OAlEg=E RAl&c 89 40,000
401 A& HIX R0 329,000 329,000 0
) 164,500
Al 164,500
01 A28l 329,000 329,000 0
OOt wHM & A= =4 329,000
Il 164,500
Al 164,500
HENotE RX2el 13,000 30,000 A17,000
201 Eer23 | 3,000 3,000 0
2 352484l 3,000 3,000 0
O8&88= 3,000
401 AIEHIX SO 10,000 27,000 A17,000
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